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1. Read each question carefully before you begin answering it.

2. Check your answers seem right.
3. Always show your workings
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1. Write down the quadratic formula.
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2. Solve the equation x2+5x+1=0
Give your answers to one decimal place.
@) Z:-0tyd -4 J 35U
- -5t S g
C > L2729 &
- ot A & -5 --m
L e R
i 1 Iy
Z/: - "7’ o~
o~ Ty = ««O'ﬁ'@g'u o
1z -5t J(8) - fxix x
ol x=.7Q:% . orx= _[Fg .........
(3)
3. Solve the equation 2x2+6x+1 =0

Give your answers to two decimal places.
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4, Solve the equation 4x2+x-7=0

Give your answers to two decimal places.
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5. Solve the equation x2-2x-9=0
Give your answers to two decimal places. _
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6. Solve the quadratic equation 7x2 - 25x +2 =0

Give your answers to two decimal places.
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7. Solve the equation 3x2+ 10x+5=7

Give your answers to two decimal places.
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8. Solve the equation 11x2 =7 — 2x 2 a2 r ﬁl A //x[w:zj
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9. Solve the equation 12x2 - 13x + 4 = 13x2 — 5x + 1
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10.  Arectangular field is 15m longer than it is wide. _
The area of the field is 800m2 | pARL o ;{[;(He“)
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Work out the length of the field. =X F sk
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(b} Find x.
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12.  Solve, giving your answers to two decimal places. K(ntd) x( mea)
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Jack is solving a quadratic equation in the form x>+ bx +c¢ =0

He has got to this point in his working out
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15.  The area of the shape below is 100cm?
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(b) Find the perimeter of the shape
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